. ExarinoFion 1 : SolukFion
1. Debine.  L; () = (- A -+ (= Aig) (k- Ri49) - (A-2pe)
CRi= )~ (i~ Aicg) (U= Xjp9) " (i~ ?

v'.,(?(\’) :‘.{1 y J:J.,

O 5, yg#FI-

k

THhen pe () = Z (04, (=) is O pol;mwu’d ot
=0 al.c.ﬁrec, <k and
PRC%J)= ‘#("-u)) d=- 0, 1, ) .
T4 U s Gnothor J'J-er/oolaﬁn‘y PaJ(ymNal of degre <k,
Hr e
(PF— ?k\ (:(\))_-_ o, j=o)1r"1k

Qncl  hence f’k () = T (=) -




‘Let P, anol 9, , be /ooloymrwiab of o&ﬁf@b < k-1
Such +thok Peey (20 = aer&), j= 015 R

Yy XY= FH L = 1.2,k

Consicler Pk () = (=2 Py (XY T (A=20) Qg2

Ak-2p
[Then Py pol(yw/vu'«l of drgree < k.,

PkC%J)= 'ch\})) \}-'—0)1)“‘)‘6 and

coctd- of K o coctp of 2 in 9.y — coefl. of xk'1infp_,
.'n Ph xk'xo




n

$: [a,b] — IR twice cortinuo Wﬂg oli Plescrtiable
) = £Ca) + Rla,bl(x-a6) + £[a ba](a-e)(a-b)

b
f\ecﬁ)dl = PCoyCb-a)+ £[o b] Cb-a.)z
oy 2

b
+ ff-’ [o b x_] (2-a) (2- b) d 2t

o

b
blq (Rw+ 2n) + #lx b e j(pt-a) (A-b) el

(Since Lo b 2] is Cortinnous and (A-a)(2-b) < o)
7 3

- b-

b-a (P(wy+ #CH) + £ (D (- (_6“) )

A A
! l v d € (a,
Rake error . or Somé (a.4)




1
y J R da A_,__%,(,e(onsfcis-)ar s P (2)+Fn)

B(x)=1. LHS=1 , RHS= _;_(Hz+3+1)_-_ 1

P(x)= A . LHS=

_LZ_, RHS = %_(1-1—2,1'1): .LL
Py = 2* LHS = L, RHS= (1 4 1) L
3 3
Fon= x> LHS= L, RHs-= e
P) =29, LHS= 4, RHs= A1 71 .16 . q) o 11
5’ ] z#*u*) 54

LHS = RHS .

TR yule is exact Poxa,wwda of olegree < 3.



b '} ’
Poydn = T, %’ (- ) + 0Ch")
o,

a

b
JHeda = Ta+ (20" (p'Cr- 2 + 6¢h")
12

2 f#matz = 7‘,,11- Och")

T, = (ﬁ@m £C) + h Z 2 (i)
' 1

T_p__ = h (#(a) + 2CH) + < h Z.. 20E:)

2.

=2 S sSon fu..Lb
.even L/ '“F

(2h)(,a(q)+ 2(h) + th)z 2(ti) + i:(i"_ z an)
i=1
1odd i eve»




U

gad= [0 A) = |20 -PCGD | 344,
A-Zo
#'(“6) J A= A,
For x % 2o,
3’y = (-2 Pty — (R - Pan)] _ '”""-J"EE"""’J_-P&M,Q.

CA-29)% A= Ao

glcﬁo) = f‘jm P[0, ﬁafh] - 'gl(ﬁo)

=20 h i
’ 2 .
Liw £O+R) = PG - h 2 O0) iy b RTe) by e
6 h’- = h—)o __Z'___)U"CMLJ
® et ah)
- _Pncxo) = ¥ [2o o 10] ’

2



[A:b] =[ay, o 0 - 0 by |
Qz4 qzz az.’s by
O Qg2 Qg3 Qgy :
B 0 Qn’n_,' Ann by _J
1st step : ¢y
- a - -
mz’ - az:, J Rz' m.q_q R1 B az;)— az'z m.21 q’-?; 3 MuU/cbv
be' "= by - my, by +3 Subdechony_
(A b) = [0 8w 0 o 0 b1l Each step: 2 malt-lin
O By, Gyy0-:- 0 b, + 9 sub-
Total : 3 (n-1)‘m:1:~/ouy.
[v) () .. amn-1 Apn IO" 3 + 3 (n-9) Swo-




Back Substitution:
Ugyy Ay o+ Uy A, = Y,

Uz, 2, + uzg Ag = da

uh—1;h-1 Aneg + Uney,p Zn = dney

u”lln xn = 3”

Apo=dn_ Rj= Y= Wiy Riet oy = pet, s
Unn Wi

Total : heq mult- + N-1 Subirections + n HAiviSionS




FTMmd W
N o s o




R= LU = oat ()= det (L) et (V)
= Uy Uy, ---Up, FO0

= Wi 0, i=1,2,--,n

For 1 <i,jek, Akci;))-— é1LCiaf)UCP,\))
PZ=-1 L Ciop) UgChsj)

= (L Up) Civ)

Ak, = LI% Uk’ = ot (CAR) = olet C(CUp)
= Uggo Upgyy F 0

3
=1



10

T T
A= MM’ = A = (_”T)T}’\T.—:_ J"‘I’lT: A
— T
Let 2 4 0 . Since M is iwertible, Y= M-'a—c:po .
Consider AT Ax = ATMM a = 375(

— 2 2
= Wt T I >0

= A s positive - d.;‘fiw'?"&.




